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1. ‘98] ®F 3R dier 9T fhae faar on? 5. IR & a9 319 ganN faol § &
(A)ET fadepe  (B)@rl Feol< foras forar or?
(C)=r Ta=e  (D)®Yd ov= A (A)IE™S Shalal  (B)RMYATE faRea

2 o8 o |8 7 B | (CO)fT® TREY  (D)BHTol Toied g™
(A)TRIg (B)fef= 6 IS U TF g9 dTeil UH YR Afgelr B ofi?
(C) ey (D)t e (A) fh=a 9 (B) STITSITST

3 goid BT Ie1 famid Yeg T 872 (C) ISTHANT HR (D) AR HAIG
(A)STST (B)SaASIH 7 MRA & YUH AR faqwH=n &7
(C)eaT DERSE (A) AT HISI (B) uHT TIRTST

4 RIS BRI STHRIE TEPR & fha wer o (C) Fodt Huert (D) ufawr difed
(A)§fpHa= gectl  (B)RMUNTE 9l 8 faw & fow 2w & Rt 9+ & &7
(C)STeT MR fdeT  (D)STATER Tl 8% (A) WSal 3RE (B) SOIRT3TeT

(C) 3HRBT (D) &I




o TYaTS &1 |f &1 919 a7 o1?
(A) SIS a8 (B) Uydell T8
(C) HIRT A8 (D) IFTT S97H

22, MRA H YoM Ar_lad fhad URe fdar
qT?

(A)STIYGTY ARTICT  (B) IHAAIER AT

10 TS @ XefdeT B &7 ) (C) fairaT Wy (D) T HEST=<
(A) Ifavs =121 MR (B) dfdbHas Tl 73, fIoTe & 958 § B @ A 99 o 27
(C)STIGHR UdIE (D)S&RT=% fIemiTR (A) SiaRfT (BJAITETH FRTES

11 3Mgde BT da ‘Fifbedr &1 aar’ fed (C)TTERTT (D)ETERIo
?
e 24, fodbe fig ot omrd Rl B 7
g (B)zdd=
- (A)20.12 #Hrex (B)21 HIex
(©) (DR C)18 #Hiex D)18.12 HIex
12, 9RA TR YU 3MEHAUT G+ aral IR (€) (D)18.
YRIP DI 77 o ?
mf Y — 25. IR AqvSd &I Had BT UE o
(C) F&Hg IMfQeioE (D) FEHI& Tord] (A)gE (B)wIEl
13 FETHT el & ISTIad & DI oF? (C)yged (D)¥Tel
(A) TR TS (B)TTTOTS T MEehg AIDS FT X7 w0 3 |
(C) Tl faderi (D) T.3M & (A)Active Immuno Deficiency Syndrome
14 UTell Weld F9g by d1eure & gog g oi? (B)Acquired Individual Disease Syndrome
(A) AbsR (B) 1Y (C)Acquired Immuno Deficiency Syndrome
(C) Seqddrd (D) BIgEalT Vddh (D)Acquired Immuno Disease Syndrome

15 gedT H B9 A S8 © o8l [Q9—0q,
BIc—d< T8l BIi?

(A) e T (B) ET NN
(C) fayaa ¥z (D) Heb N
16 @9l Afex Hal 8?
(A) DIeTehd (B) STIYR
(C) wraTet (D)
17 UrRA—fhRo] ) @il foogs a1 of1?
(A)TTTeSETH (B) &ATHIAA
(C)RI=eoT (D) fau=

18, HFIYCI BT SH b BT Il 27
(A)TTeT g (B)FETH BIfhT
(C)S=yg, ST U4 DSIERSES

19 YRT 3R A4 &1 I &1 FaiRa &=
qrell TS BT AT HaT Sl 27

(A)NSFATH ATsT (B) HpHIET 8-
(C) SXUS X (D) S & BIg 7Tl

20, el BT ot fbell RpEe aFary 27
(A) TR (B) el <71 g
(C) STESTE! (D) STERTIR

21, WA YR BT U2AH I g1 b A7
(A) STITSITE N (B) A< =1
(C) STTTHITS (D) <fTe], I¥Ts

27 HEIT YAl ‘Y’ T SMMAhR e
fhar er?
(A) SIS (B)3MIWCEe
(C)TdSTel (D)®Ig 3T Afdd
28. WRA H WIS URT P THATT P §s?
(A)5 TaFIR 1991  (B) 5 IR 1990
(C)1 oTIR<T 1986 (D) 2 3T 1986,
29, A9 & WR H oo sfsedl Bl 87

(A) 205 (B) 206
(C) 204 (D) 207
30. HIfRAT T g9 399 A fbd war 9ar 27
(A) TR (B) 9831
(C) ARFBT (D) ThIeAS
31 HEAR™T YITEHEAT ST gIRT 500 9 100 &
Ale &g 9 by TI?
(A) 2015 (B) 2017
(C) 2016 (D) 2018

32 O &7 AW MR <Y B9 AT 87
(A) RaesiRetvs (B) IR
(C) SIrar= (D) =4




33, Y% GHMGR 430% H O TGl ©
3R S 455% H 99 <l & S fha
gfeyd I AT B 85 7(A seller buy a
watch for Rs.430 & sell it to Rs 455. What
is the percentage of profit or loss, he get)
(A) 25% AT (B) 25% BT

(C) 5.5% BT+ (D )5.8% <4

34 450 W4l H ¥ 30% 9 © fdha- ¥4 SId
%?(there are 450 apples in which 30% are
addle, How many apples are fresh.)
(A) 135 (B) 140
(C) 125 (D) 315

35. HIgT o U I WG PR & 2817.5 H
TIBY

qEJ DT NI DIFT TR 15% I HATIT
IR B ART BT R®IT 87
(Mohan buy a thing and after selling It to
2817.5 he earn the profit of 15%.What is
the cost price of that thing)

(A) 2500 (B) 2450

(C) 2540 (D) 3315

36. 9% BT A W& 1A BRI S99 AT
R UR 3456 JUT &1 91 S | (what is
the smallest number which is divided by
3456to become a whole qube.)

(A) 12 (B) 4
()3 (D) 2
37 TP I BT &A% 100 I H & SHBI

RATT BRI (The area of square is 100m?2.
Perimeter is-
(A)50 T (B) 400 HT.
(B) 40 HI (D) 200 I
38 IAAM FHI H SR U & gIHAl
P 87
(A) IRISY Irgg (B)IRNY erfacArer
(C) gemH Rig (D) XY WY
39 BAR I g & A ey ara o
27

(AyFH foeaH (B)¥<aH fYqq gavq
(C)TIHT ST (D)o fe=g

40 TP R nfavpR fhaq faar?
(A)S AR (B)Uciduiex U8H o
(O, Tt PRIESEREN

41 Complete the spelling of E.....min...ti...n

(a)x,a,a,0 (b)i,m,p,0
(c)a,l,0,x (d)None of these
42 Filling the blanks with the word given
Following.
Why are you angry................... me?
(a)To (b)With
(c)of (d)At
43 Give the opposite word of the word Death.
(a)Live (b)Life
(c)Living (d)Alive
44 What is an Antonyms of “Ancient”.
(a)Very old (b)Ancient
(b)Modern (d)None of these

45 _fill in the blanks with appropriate verb.
T the report yesterday.
(a)Submit (b)Submitted
(c)Submits (d)None of these

46 Parentsis @......ccccveuerreennns
(a)Feminine Gender (b)Neuter Gender
(c)Common Gender (d)None of these

47356420 BT IFRIY W 7 Ulayd arf¥d
PR A 4 T D I8 a1 ARIRIT
&ToT HSTIT? (What should be the
simple interest of the sum of Rs.6420
with the rate of 7% after 4 years.)
(A)1869.8 (B)1797.6
(C)1786 (D)1896

48.30,40,72, & A ¥ 3R o | BT YU
BT | (What is the result of
multiplication of LCM & HCF of 30,40,72)
(A)360 (B)720
(C)1440 (D)4320

49 A U T =18l & WY BT Id
G W(What is the avg of the group
of numbers mentioned below.)
965,362,189,248,461,85,824,234
(a)467 (b)504
(c)461 (d)524

50 1308 I fohd AT | WRT T WX
YTl 52 3R WY 8 gl 2| (1308 is
Divided by which numbers to get the
quotient 52 & reminder 8.)

(A)25 (B)52
(C)12 (D)8
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